SQ'@"WY‘ Senenr Revre ., Sebitions
DU|?‘7 Ad=5 0367 Unh = U‘+(h*i)0(

Uzs=-1+ (30 “D(8) =7+ (2aX5) @

2) =12 d=-¢ y,?
V= 12+ (U=X-4) = |2+ (13)-%) Uy = ~40
4

3) 258 0,. U=2 d=3 Vg ?
o Vo= @+ (50-N(3) = J+44a(3d) F)5°= 4G

- 2
LD U =10 0,1l e

G0z 2 Gedel 7 1=+ 99

lo = u,~+ 9d -10= -4, -8d 6=y, +5(1.5)

U = Y+ (-Dd’ / (9(_33 w
A=1.5

10 = U|‘i’6d

Now Uzg = O, (25 -Ddl

251 24(1.9) \3;;‘-' 33«.5]
5 U"’ ;(’3 Qq ; Un” U.(‘ g
Ug= -2 () = -a(3)* = \*_'%'9-1”'%
(,;) "3/"}.:‘%‘)“. U‘:«—B = -1

2
3 (VL B

‘)) U‘:‘/q LL=® VL7

Vo = U.r‘("" U'z‘:- U.r“n‘-l -

g =" r® Uiz = (Y4)(2)

32=r*% 532 = |va=512]
=

8> S{Q_ Ul = -6 U,1=l0-5 n= |2

%= B (utu)= %G’b* 105)= (0@53



Q) U/ =40 d=_3 S’? hé’l (ZU, + (Y\‘nd)
(82 (2 40 + (1§ -1)(-3))
G(g+11(-3) = Ao+ '5’) =9(9?)=

25
) (Z: (2¢ -3)
2
(/l‘*a?(l)"f)’: -1
Uss= 2(25)3=4T 25y (~1+47) = (575]
n= x5
l;) [6-§ +4 ... Sa vy (/-TO) _ ](p(’__ (_‘/z)e)
r= —8//6"'_//2 [-r [ = (~'2)

G \ \
= b (-q %%75‘3 =\10.5
(S
|2> C+/2+24+ ,,. S+ u,gr"'D (ﬂ_(__’Q G (12 ‘7’) m
=)

r> ‘%2, = Q
U|"’C
n="1
15
/3) 5 N\ = 5(-d"= (=5 5 =
¢ r— 'Q
z o e By =0 TR0
5
‘gr D _SED°-D | 5(-327¢9) _ is'%/s;
—2-1 Y 2

3% oloub\es = %co'v-\d\n'o =) = . e
<,

= 20060 h__ (25,000 ( )= 2000 Since offer N=\ !%dmbkab

| 2§ D00 =20, Nl
JDOD 2000 (33 Solvwe b\\j W{M,d 7 - 30min

= h—}
“aremopgn
2 3»5'\(‘;



) n=l = \yrof decinly =0 n=9
U, = 15 ooo( o) = 49000

=0 (LY = Goool. 6D %ao(@Sr

)MBZ -20,79,2 /3J.,.%§’ Tﬁwmr\yfcrms
(ﬂ)\cd" K(r»aLOT“ 5&2444«,«-_4 7 Avul}\&a Il each e
S0 oritnmene o =1
Un= 0, + (h=1c!
Y6 = =20+ (n=) (1)
b6 = In=1l

) 14 118,
n=28 d=a lastrows= U,g
CL2g= U+ (n-D(2)
V2g = "“*(95'N33 Uag ‘—'\(02 M{{S\
= I+ 48

|g> (i 2'/3 N=1= | bawnce n=G
= B4 (?/3) = 2 eet

Ue*- O, (V™ = 30(3Y T = 36(¥8)” > U 1Y Ret-)

[9) 0,=5000 d= -250 n=I5
Sum ! N/2 (20 + (n-Dec)

\5/2( 25000 + (15 ~1X-250) 7
7.5( 10066 +14(258) = 7.5 ((,S00) =

9(8 U= L0, 000 = ’7‘1070— I IO Sum n=lo n-—grsaésm;

000600 ( 110’ °-1)
I Jo—| 95@ 245, Y




21) pe=2o = Ifag2a  r=3  Sum!

2L (218 + (2 - )

lo (36 + 19(2))
140 Seats

J;) ()/)’7-360
ul = 5160 Un=u,1~(h~)\o{
d=715 J200 = 5160+ (n=-1)(75)
26 = 95n-75
2’75;75";«)

(7’:737 8,&«/5:)

935 U, =3500 (,7) =2450

r=.71 ((.Jor?‘h709a r\wt-brs Ur\:U,‘("h"
Un = 1§00 (€15 = 50 (D"
gé/tq = 70|
chocllinley g, = & i‘ [5G

323 07X"
|24 )
J‘l} U, = |

V2=3 d=2  Sp=160000
0376 ’

Sn= N/a (Ju, + [h-Dd\
Lotwyo= a2+ (h-N3)
2,000,600 = N (2 + n =2)

Jjo'so}ooo= N (2r)

2,605 cp0 > 22 Ir—r—y
), 000, 0 = n%+ N=| D00 Numbes




